V1. 
[image: image1.wmf][

]

1

;

0

;

3

Î

=

x

x

y

.                   V2. 
[image: image2.wmf][

]

1

;

0

;

3

1

3

Î

=

x

x

y

. 

V3. 
[image: image3.wmf][

]

1

;

0

;

3

2

3

Î

=

x

x

y

.               V4. 
[image: image4.wmf][

]

1

;

0

;

3

1

2

Î

=

x

x

y

. 
Q17.44. Яка дуга кривої при обертанні навколо осі 
[image: image5.wmf]Ox

 утворює поверхню з площею  

          
[image: image6.wmf](

)

3

56

1

3

8

1

1

4

0

3

2

3

3

0

p

=

+

p

=

+

p

=

ò

x

dx

x

x

S

?

V1. 
[image: image7.wmf][

]

3

;

0

;

3

Î

=

x

x

y

.                    V2. 
[image: image8.wmf][

]

3

;

0

;

2

2

3

Î

=

x

x

y

. 

V3. 
[image: image9.wmf][

]

3

;

0

;

2

Î

=

x

x

y

.                V4. 
[image: image10.wmf][

]

3

;

0

;

2

1

2

Î

=

x

x

y

. 
18. Комплексні числа 
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